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P - II (1+1+1)/ 20 (N) SUP

2020

COMPULSORY ENGLISH
[For All Categories of Candidates]

[New Syllabus]
(Supplementary)

Full Marks : 50 Time : One Hour

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.



 Page : 2 of 15



 Page : 3 of 15

Choose the correct answer.

Each question carries 1 mark.

1. Who addresses whom in ‘If’ ?

(A) An orator address his listners

(B) A father addresses his son

(C) A political leader addresses his followers

(D) A teacher addresses his students

2. According to the ‘If’ poet what should one do if one is exhausted in life’s
battle ?

(A) one must rely on one’s presence of mind

(B) one must rely on one’s material resources

(C) one must rely on one’s will power

(D) one must rely on one’s friends

3. Which company did the unknown citizen work for ?

(A) Fudge Motors Inc.

(B) Power Gen plc.

(C) Metal Storm Ltd.

(D) Goldcorp, Inc.

4. Which of the following was considered as a necessary possession for a modern
man in The Unknown Citizen ?

(A) coffee machine

(B) computer

(C) phonograph

(D) stethoscope
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5. In ‘Where the Mind is Without Fear’ the poet considers domestic walls as —

(A) solid

(B) wide

(C) narrow

(D) porous

6. In ‘Where the Mind in Without Fear’ words come out from —

(A) depth of truth

(B) folds of brain

(C) stages of memory

(D) bottom of mouth

7. The nationality of the speaker in ‘Telephone Conversation’ is —

(A) Asian

(B) West Indian

(C) Arabian

(D) African

8. What was the landlady’s first reaction when she came to know about the
nationality of the speaker ?

(A) She was happy

(B) She was silent for a brief period

(C) She was angry

(D) She started laughing at once
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9. According to L.A. Hill, the best way to master vocabulary is

(A) to converse with friends

(B) to look up the internet

(C) to consult a biography

(D) to inculcate reading habits

10. At the beginning of a career as writer one should choose topics from

(A) episodes from novels

(B) day to day life

(C) favourite poems

(D) situations from plays

11. Mark Twain explores the theme of in ‘How I Edited an Agricultural
Paper’.

(A) inexperience

(B) jubilation

(C) valour

(D) cowardice

12. What does the narrator do at the end of the story ?

(A) he apologizes

(B) he celebrates

(C) he resigns

(D) he is promoted to the post of Editor
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13. Where did Bob and Jimmy meet before twenty years ?

(A) In a restaurant

(B) In a race course

(C) In a hotel room

(D) In a club

14. Why did Bob refuse to take the plain clothes police officer as Jimmy ?

(A) because his voice does not match with Jimmy’s.

(B) because he looks older than Jimmy.

(C) because he is taller than Jimmy.

(D) because the shape of his nose does not match with Jimmy’s.

15. In Chekov’s The Bet, the bet is between —

(A) a scientist and a jeweller

(B) a banker and a lawyer

(C) a footballer and his coach

(D) two lovers

16. What was the amount of the bet agreed upon ?

(A) Two million rubles

(B) Three million rubles

(C) Four million rubles

(D) Five million rubles
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17. Who is Mrs. Meldon in Progress ?

(A) Eddie’s elder sister

(B) Eddie’s mother

(C) Eddie’s aunt

(D) Eddie’s younger sister

18. How does Prof. Corrie die in Progress ?

(A) Mrs. Meldon gives poison to Prof. Corrie

(B) Mrs. Meldon stabs Prof. Corrie

(C) Mrs. Meldon pushes Prof. Corrie from behind

(D) Mrs. Meldon shoots Prof. Corrie

19. How many characters are there in Progress ?

(A) 2

(B) 3

(C) 4

(D) 5

20. Prof. Corrie is a

(A) scientist

(B) doctor

(C) jeweller

(D) banker
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21. What does Wasserkopf want from the school ?

(A) He wants a certificate of character from school

(B) He wants a job of teacher in the school

(C) He wants his tuition fees back from school

(D) He wants a farewell party from school

22. Who outwitted Wasserkopf by laying a trap ?

(A) The Language teacher

(B) The History teacher

(C) The Mathematics teacher

(D) The Physics teacher

23. After how many years does Wasserkopf come back to his school ?

(A) 15

(B) 16

(C) 17

(D) 18

24. The Mathematics teacher alludes to which theory in order to prove correctness
of Wasserkopf’s answer ?

(A) The Theory of Relativity

(B) The Theory of Gravitation

(C) The Theory of Motion

(D) The Theory of Evolution
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25. It is after all a in disguise.

(A) sorrow

(B) happiness

(C) blessing

(D) curse

26. ‘Drone’ is a ________ .

(A) male bee

(B) male horse

(C) male deer

(D) male goat

27. A ________ of cards

(A) box

(B) class

(C) bunch

(D) pack

28. A lamb ________

(A) bleats

(B) growls

(C) whistles

(D) quacks
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29. You are late. The train  already..

(A) has left

(B) had left

(C) have left

(D) leaving

30. I think I _________ a new pair of glasses.

(A) needs

(B) need

(C) has need

(D) have need

31. The guests before she came.

(A) has departed

(B) departed

(C) have departed

(D) had departed

32. How many of you _________ to Shimla this coming summer ?

(A) has gone

(B) have gone

(C) will go

(D) go
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33. The students _________ gone on a picnic.

(A) have

(B) has

(C) are

(D) be

34. Nobody _________ the price of this watch.

(A) knows

(B) is knowing

(C) know

(D) have known

35. The man with five pets _________ on my street.

(A) living

(B) live

(C) lives

(D) been living

36. The committee _________ these problems minutely.

(A) debating

(B) has debating

(C) debates

(D) debate
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37. She was married _________ a businessman.
(A) with

(B) to

(C) for

(D) by

38. Although it was raining _________ we had the picnic.

(A) but

(B) yet

(C) even

(D) none of the above

39. She did not meet _________ .

(A) anybody

(B) nobody

(C) foreign body

(D) none of the above

40. They cooked the dinner _________ .

(A) themself

(B) themselves

(C) himself

(D) herself
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Read the passage below and answer questions 41-50 :

A Swiss named Henry Dunant wrote a book in 1859, in which he described
the sufferings of soldiers wounded in battle. People who read that book were moved
to pity and wanted to do something. So, in 1863, representatives of some
governments met at Geneva in Switzerland. There they promised to save from harm
all soldiers wounded in battle as well as those who took care of them. This agreement
is known as the Geneva Convention. Societies were then formed in many countries
to look after the wounded and the sick, and they united to form one association
named the International Red Cross. You all know that Jesus Christ was killed on a
wooden cross. These countries adopted the Red Cross as their symbol because, as
Christians, they all have great respect for this sign. The International Red Cross also
traces lost people and keeps itself in touch with prisoners of war. In times of peace,
it goes and serves wherever there is a famine, a flood or an earthquake.

41. Dunant in his book described the sufferings of .

(A) peasants

(B) labourers

(C) soldiers

(D) priests

42. Jesus Christ was killed on a  cross.

(A) wooden

(B) golden

(C) iron

(D) silver
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43. Henry Dunant was

(A) German

(B) Russian

(C) Swiss

(D) French

44. Representatives of several countries met at —

(A) Switzerland

(B) Geneva

(C) Berlin

(D) Milan

45. International Red Cross was formed of

(A) political parties

(B) clubs

(C) chambers of commerce

(D) societies

46. The symbol of the Red Cross is sacred to all

(A) humanity

(B) Christians

(C) doctors

(D) soldiers
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47. Which countries adopted the Red Cross as their symbol ?

(A) Those who signed the Geneva Convention

(B) Those who cared for Christians

(C) Those who fought war

(D) None of the above

48. Henry Dunant wrote the book in —

(A) 1863

(B) 1865

(C) 1859

(D) 1858

49. The International Red Cross serves when there is —

(A) court cases

(B) elections

(C) examinations

(D) famines

50. The International Red Cross takes care of —

(A) bandits

(B) doctors without frontiers

(C) prisoners of war

(D) lunatic asylums

—————


